BR 7 JUEE Z B2 202248 J5 F 0 BT K BB R 5T

1. EFER
:{4&%%@‘“2”?‘“ (a0) WERWEFIR, W TFHSERHIERKZ

S x=1

.

-1 I.é - \D" T

h!

A.a>0B. 3 - 1<x<3K, y>0
C.c<0D. Hx>1H}, yBlExHIH KT HE K

2. IR FERR
Z IR E Bly=ax2+bx+c I B R B R, W FHZ R ERKR
¥ a

L

r'/ll- : e
,.r’ o '\1‘
|

A. a<0, b<<0, ¢>0, b2-4ac>0B. a>0, b<<0, ¢>0, b2~4ac<0
C. a<07 b>0; C<O; b2_4aC>OD. a<07 b>0) C>0) b2_4ac>0

3.
A IR B Hy=ax2+bx+c (a20) FIEREE A G0, (2, 00, H-2<x1<-1, Sy#l
EFXHPRZSTE (0, 2) BT, UTFILR:

Dabc<0; @b2>4ac; @2atb+1<<0; @2a+e>20.

W H A ERSERRF 52

A. Q@ B. @6 C.Q@@D. DO®®

4. EHEB
B0 Z IR Bly=ax2+bx+c (3£0) BIERWEFR, W TFH4 R+ IEFHR 2

)

J =] \
A. a>0B. 3R FEax2+bx+c=0/—R
C. atb+c=0D. Hx<<IKF, yFExHIHE K

5. EFERR

ERHIREY ™ 5, Mx>08, yBExEBATIRA, I =KE My=m x2+m xR KB
FESH

y Y
;/ﬂ\l \ [/ . L/ /\\ _ AN /




